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QUESTION 1

You are concerned about users attacking the publicly accessible servers in your data center through encrypted
channels. You want to block these attacks using your SRX Series devices.

In this scenario, which two features should you use? (Choose two.)
A. Sky ATP

B. IPS

C. SSL forward proxy

D. SSL reverse proxy

Correct Answer: BC

Reference: https://www.juniper.net/documentation/en_US/junos/topics/topic-map/security-user-auth-ssltls.html

QUESTION 2

You are using SRX Series devices to secure your network and you require sandboxing for malicious file detonation.
However, per company policy, you cannot send potentially malicious files outside your network for sandboxing.

Which feature should you use in this situation?
A. Sky ATP

B. UTM antivirus

C.IPS

D. JATP

Correct Answer: D

Juniper Advanced Threat Prevention Appliance Reference: https://www.juniper.net/us/en/products-services/security/srx-
series/datasheets/1000654.page

QUESTION 3

Which statement is correct about service chaining?

A. Service chaining uses IPsec to connect together two or more VMs

B. Service chaining evaluates traffic by using multiple security features on the same instance
C. Service chaining redirects traffic back through the same device for additional processing

D. Service chaining combines multiple VNF instances together in the data flow
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Correct Answer: D

QUESTION 4

You are asked to virtualize numerous stateful firewalls in your customer\\'s data center. The customer wants the solution
to use the existing Kubernetes-orchestrated architecture.

Which Juniper Networks product would satisfy this requirement?
A. vMX

B. vVSRX

C. cSRX

D. CTP Series

Correct Answer: C

Reference: https://www.juniper.net/documentation/en_US/csrx/topics/concept/security-csrx-kubernetesoverview.html

QUESTION 5

You are designing an SDSN security solution for a new campus network. The network will consist of Juniper Networks
Policy Enforcer, Juniper Networks switches, third-party switches, and SRX Series devices. The switches and the SRX
Series devices will be used as security enforcement points.

Which component supports the SRX Series devices in this scenario?

A. Security Director

B. RADIUS server

C. certificate server

D. DHCP server

Correct Answer: A

Reference: https://www.juniper.net/documentation/en_US/release-independent/solutions/topics/concept/ sg-006a-sdsn-
product-components.html
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